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§5. 1 SEHDEET AL INZEES

1. % cd = R—LT A ININEE)
2. % mkdir chapl? = T4LVM)chapl 7&1ER
3. % cd chapl? = T4LMN)chapl7~#&El

4. % netscapeZ{#-oTdatal7%chapl7~NFHA—K

5. % tar xvf

equationl
equation2

datal? = YT IT—ENEE

.C
.C
equationl.
equation2.
equation3.

in
in
in




§5. 2 EI—RGTEXDNRAR

EI—RAER
A00'x0 + A01l'x1 + ... + AO0p'xp = b0
Al0'x0 + Allx1 + ... + Alp'xp = bl

Ap0x0 + Aplxl + ... + Appxp = bp

TH=LERE ... Ax = b

A00 A0l ... AOp| | x0 b0
A10 A11 ... Alp| | x1 b1
A20 A21 ... Ap| | x2 b2

A.pO A.pl A.pp >£p b.p

§5. 3 GaussHEARLUSfE)

AZ=FTHIDIEICH TS

L (T=Af) U (E=ffri)
10 .. 0 0|[ADAN ... Ak
mid 1 ... 0 0|0 All' ... Al

A=im20m2... 0 0|0 0 .. Ap"

mp0 mpl ... mpp-L1{ |0 0 o A

AemiOk A ATl=ml0¥ADt ATl ... Alemi0%AGt  Alp
A2em% AN A2=m20% AOmA*ATL ... AZemabk Abptm2k Al +Az
Apt=mp0* A00  Apl=mp0% A0L+mpl* AT1" ... App=mp0% AQptmpl*Alp't...




§5. 4 LEU F7ahb mijeAij ERHD

mijEAij ' ERHD

m10= A10/A00 A1l’=A1l ml0% A0l  A12’ =A12 ml0% AQ2 Alp’ =Alp ml0% A0p
m20= A20/A00 [A21'=A21 m20*AOl] A22" =A22  m20% A02 A2p' =A2p  m20% Alp
mp0= Ap0/A00 [Apl’=Apl mpo* A0l] [Ap2’ =Ap2 mp0* A02 App’ =App  mp0* Alp
m21= [A217) /A1l A227=A22" m21%A12' ... A2p''=A2p’ m2l¥ Alp’
mpl= [Apl’] /A1l (Ap2r7=Ap2" mpl* A12'] ... [App’’=App’ mpl* Alp’]
» NIT—RAERDIGE p=n-1
for (i=0; i<n; i++) {
for (j=i+l; j<n; J++) {
m[j][i] = A[J][i]1/A[i][1i];
for (k=i+l; k<n; k++)
A[jl[k] -= m[J][i]*A[i] [k];
}
}
§5. 5 Lb' = bZfiE<
Ax = LUx = b
F9Lb = bZEfK
L (F=A7h)
1 0o ... 0 0 bo’ b0
mi0 1 ... 0 0 b1 b1
m20 m21 ... 0 0 b2r b2
mp0 mpl ... mp,p-11 bp’ bp

for (i=0; i<n; i++) {
for (j=0; j<i; j++)
b[i] -= m[i][j]1*b[]];




§5. 6 Ux = b'#fiE<

RIUx = bZ&fE

U CE=A1ri)

A00 A01 ... Alp X0 bo’
0 A1y ... Al X1 b1’
0 0 oo A2p! X2 b2’
0 0 . App'’ Xp bp’
for (i=n-1; i>=0; i--) {
for (j=i+l; j<n; j++)
b[i] -= A[i] [j]1*=x[]];
x[i] = b[i]/A[i][4];
}
§5. 7 BREZRLT
1 0 0 0 A00 AO ... A0p
mil0 1 0 0 0 117 ... Alp’
m20 m21 ... 0 0 0 . A2p’’
IIipC Hip”_ . mp;pf 1 0 0 . Aép””

for (i=0; i<n; i++) {

A[i][i] = 1.0/A[i][4i];
for (j=i+l; j<n; j++) {

m[j][i] = A[JI[i]*A[Li][i];

for (k=i+l; k<n; k++)

A[j1[k] -= m[j][i]*A[i] [k];

for (i=0; i<n; i++) {

for (3=0; j<i; Jj++)
b[i] -= m[i][j]*b[]];

for (i=n-1; i>=0; i--) {

for (j=itl; j<n; Jj++)
b[i] -= A[i][3]*x[]];
x[i] = b[i]*A[i][i];




§5. 8 EIFELIIMIAFE

for (i=0; i<n; i++) {
A[i][i] = 1.0/A[i][i];
for (j=i+l; j<n; J++) {
A[j][1] *= A[i][i];
for (k=i+l; k<n; k++)
A[j]l[k] -= A[J][i]*A[i] [k];

for (i=0; i<n; i++) {
for (J=0; j<i; Jj++)
b[i] -= A[i][]j]1*b[]];

for (i=n-1; i>=0; i--) {
for (j=i+l; j<n; 3++)

b[i] -= A[i][j]1*x[]];
x[i] = b[i]*A[i][i];

A00 A0l ... A0,p-1
m1l0 All’ Al,p-1"
m20 mz21 A2,p-1""
mp0 mpl ... mp,p—1

§5. 9 BARELLMEENHS

IEELVENREDBS
1111 x0 10 1
2111 x1 11 2
2211 x 2 = |13 = 2
2221 x3 16 2
RICAETHRESLELGES
1111 x0 10 1
1112 x1 14 1
1122 x 2 = | 17 = 1
1222 x3 19 1
TEANBZDERFLSES
1111 x0 10 1
1222 x3 19 1
1122 x 2 = | 17 = 1
1112 x1 14 1

oNelNe]
oOrOoOOo
HOOO
OO

80!—‘0
HEROO
HOOO
OO

ooORrR O
or oo
HOOO
oo0Oo+
OOR K
OR P

1
-1
-1
-1

LSHHH

B e




§5. 10 {TOANBMA(ERYT12)

EEORAIOREIZHS

»A[i] [1i]=1.0/A[i][i];

» $ESHERRDA [k] [k] EFELifTEXITERHE

» MERFp i1 DWMHEZiELp[i]&p k] E3CHE

pmax = 0.0;
k =-1;
for (j=i; j<n; j++) {
if (pmax < abs(A[p[j]l][i])) {
pmax = abs (A[p[]j]][i]);
k =73;
}
}
j = plk]l; plk] = pl[i]; pli] = J;
Alp[i]][i] = 1.0/A[p[i]][i];

§5. 1 EAVKRFELZL HEE DR

kMR OMSENIEFHERAKDA [k] [k]1H0THA)ES, REMIZMFL,
FEHRIC, Ark] [k]DOISIALMES, IREMKELD.
pmax = 0.0;
k =-1;
for (j=i; j<n; j++) {
if (pmax < abs(A[p[j]l][i])) {
pmax = abs (A[p[]j]][i]);
k =73;
}
}
if (k == -1) {
fprintf (stderr, "can't solve\n");
exit(l);
}
j = plk]l; plk] = pl[i]; pli] = J;
Alp[i]][i] = 1.0/A[p[i]][i];




§5. 12 T0T 3 LEBELV AN

equationl.c ... HfilZTOU S L
equation2.c ... ERYTAUTELUREREERL

AT
equationl.in equation2.in equation3.in
4 4 4
111110 111110 111110
211111 111214 111120
221113 112217 112217
222116 122219 122219
equationl.c 1% BRITIRDMBRERTIRITIEV(ERERT)
equation2.c &I+ Y FRITAEL (R

§5. 18 O/ A JLEETT

1.

% ./equationl < equation2.in

Floating exception (OFREHI4})

% ./equationl < equation3.in

Floating exception (OFREHI4})

. fEx0

... f&x1
... f&x2
... f&x3

. RE

aVRMILT S,
% gce equationl.c -o equationl
. BT
% ./equationl < equationl.in
x0 = 1.0000000000e+00
x1 = 2.0000000000e+00
x2 = 3.0000000000e+00
x3 = 4.0000000000e+00
res0 = 0.0000000000e+00
resl = 0.0000000000e+00
res2 = 0.0000000000e+00
res3 = 0.0000000000e+00




§5. 18 I/ \()LEERITHRE)

1. A (ILT 5.

% gcc equation2.c -o equation2

2. =BT

% ./equation2 < equationl.in

x0 = 1.0000000000e+00 ... fix0
x1 = 2.0000000000e+00 ... f&x1
x2 = 3.0000000000e+00 ... fi&x2
x3 = 4.0000000000e+00 ... fi#x3
res0 = 0.0000000000e+00 ... &ZE
resl = 0.0000000000e+00 ... &ZE
res2 = 0.0000000000e+00 ... &ZE
res3 = 0.0000000000e+00 ... &ZE
% ./equation2 < equation2.in

x0 = 1.0000000000e+00 ... fix0
x1 = 2.0000000000e+00 ... f&x1
x2 = 3.0000000000e+00 ... fi&x2
x3 = 4.0000000000e+00 ... fi#x3
res0 = 0.0000000000e+00 ... &ZE
resl = 0.0000000000e+00 ... &ZE
res2 = 0.0000000000e+00 ... &ZE
res3 = 0.0000000000e+00 ... &ZE

% ./equation2 < equation3.in
can't solve

§5. 14 I8

A~JED10FESE, aLB, BEC, ..., 1&IF1000FEE(A<BL...<J), éﬁ@%ﬁ'fl
[£50000fEET 5. EI—RABAERITEIIAZFEDEL

TS5 LERNVTA~IRDERERERD L.




§5. 6 SHMDRE

A~TRED207E5E
A&B, BEC, ..., s&ETDHIEL : 2(a<B<L.. <T)
2FENDEEHI50000/FET 5.

v BT —RAERERTESIAZI R EL
» IO S LERANTA~TEDEERZRD L.

5E5%: nakashim@econ.kyoto-u.ac.3jp
H#4: unix2-FHEES
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